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& THINK AND DISCUSS
1. Which step in a proof should match the Prove statement?
2. Why is it important to include every logical step in a proof?

3. List four things you can use to justify a step in a proof.

4. GET ORGANIZED Copy and complete the graphic organizer.
Know In each box, describe the steps of the proof process.
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Ei‘h L Homework Help
P GUIDED PRACTICE

Vocabulary Apply the vocabulary from this lesson to answer each question.
1. In a two-column proof, you list the 2 in the left column andthe _ ? in
the right column. (statements or reasons) <XokeMewt ; Tecsows
2. A ? isastatement you can prove. (postulate or theorem) Th-ee e on
' SEE EXAMPLE 1 3. Write ajustification for each step, given that mZA = 60° and mZB = 2m/A.
. mZA=60°, mZB=2mZA Givawn
. MZB = 2(60°) Suvlnrtution prog.
. MLB =120° SimgVity
mZA + mZ B =60° + 120° A3d . POC A
. mZA + mZB = 180° S \mp1ufy
. £ZA and £B are supplementary. Def. ot SuPR- 2's
SEE EXAMPLE 2 4. Fill in the blanks to complete the two-column proof. .
Given: /2 = /3 1

O Ul W N

Prove: Z1 and £3 are supplementary.
Proof:
Statements Reasons
1. L2=/3 1. Given \
2. ms2 = m23 2.8 2 a. Def ot @ L5
3. b. ? 3. Lin. Pair Thm. V. L\ ot L2 ave SLR-
4. mZ1 + m£2 = 180° 4, Def. of supp. & ¢ . SovstiAvdicn prey -
5. mZ1 + m4Z3 = 180° 5. ¢ ? Steps 2, 4 > <
6.d. 2 6. Def. of supp. & 3. L\ awn 3 = SHRR.

| SEE EXAMPLE 3 5. Use the given plan to write a two-column proof.
| Given: X is the midpoint of AY, and Y is the midpoint of XB.
Prove: AX = YB

Plan: By the definition of midpoint, AX = XY, and XY = VB.
. L Use the Transitive Property to conclude that AX = YB.
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For See 1
Exercises Example
6 1
7-8 2
9-10 3
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Online Extra Practice
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ZABX = ZXBC
m£ABX = mZXBC
mZXBC = 45°
mZABX = 45°

mZABX + m£XBC = mZABC

45° + 45° = mZABC
90° = mZABC

. ZABCis aright angle.

PRACTICE AND PROBLEM SOLVING
6. Write a justification for each step, given that BX bisects ZABC and mZXBC = 45°.

. BX bisects ZABC.

A

B

Fill in the blanks to complete each two-column proof. @ DX
7. Given: £1 and/2 are supplementary, and

@ Civen .

@ De:_. e‘ o v-\wC’A'Of.
D Oes of &'s,
@ CGiven

@ Suewwdrhen RreR
(@ ¢ Addivienw Vet
@ Sobaniavxion ViR
® Simvily
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£3 and /4 are supplementary.

£2=23 ‘\"\\
Prove: Z1 = /4 3 4
Proof:
Statements Reasons
1. Z1 and £2 are supplementary. 1. Given
Z£3 and Z4 are supplementary.
o
6) MLVEML22\BO 2.a.  ? 2. Def. of supp. 4
ML3 +meT80% | 3 m/1 £ ms2 = ms3 + mss 3.b 2 «
4, L2=/3 4. Given
Moo QW
® Soeeren Tl s m2 = mes 5. Def. of = 4
OC MY T MER 6:¢c ? 6. Subtr. Prop. of = Steps 3, 5 .~ .
. 7. L1 = /4 7. d. ?
@ Teiog 2 's.
8. Given: ZBACis aright angle. £2 = /3 B
Prove: £1 and £3 are complementary. 1 /
2 3
Proof: A c
Statements Reasons
1. £BAC is a right angle. 1. Given o)
c L -
2. M/BAC = 90° 2.a_ 7 @ Oes. o o e
3.b._ 2 3. £ Add. Post. @ M\ A MmO 2Z = MLTAC
4, ms1 +m/2 =90° 4. Subst. Steps 2, 3
5. /2= /3 5. Given © miLz> »L3
6.c_ ? 6. Def. of = & (é) SeosRturion Reep.
7. m41 + m43 = 90° 7. d. 2 Steps 4, 6 R
8. e ? 8. Def. of comp. & @ C\F (3 axe Com?:
t

Use the given plan to write a two-column proof.

9, Given: BE = CE, DE = AE
Prove: AB = CD
Plan: Use the definition of congruent segments to write
the given information in terms of lengths. Then use

the Segment Addition Postulate to show that AB = CD
and thus AB = CD.
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